Name: Date:

Master 1.4 Answers to Line Masters 1.1 and 1.3

Master 1.3 Chapter Test
1.B 2.B 3.a)8 b) 5

. doa)s b) (=3)° ¢) 363 d) (—64)s

Q ’ 5. rational number

6. a) rational number  b) natural number, whole number, integer, rational number
¢) rational number  d) irrational number

7.0)D) 5VI0 i) 2Y=7,0or2¥7  b)i)V96 i) Y135

125

8. a) 4 b) -32 02 d) 16
9. a) 904.8 cm® b) 4.6 cm ¢)113.1 em?
10.2)i)> i) 150 b) i) 729 ii) 226

Master 1.4
The right to reproduce or modify this page is restricted to purchasing schools.
This page may have been modified from its original. &= Copyright © 2020 Pearson Canada Ine.






Math 11 Pre-Calculus Review 1: Chapteps 1 & 2

m 8. Tristan and Julie are preparing a math display for the school open house. Both stddents create
o posted to debate the following questions:
Does 0.999 ...=17

Julie’s Poster

6,999.“ = 0,999 599 999 999 9., |

Tristan's Poster

Jﬁsmlnexpa‘ _
g 9
m"‘wo“*‘ 000 T

ait bewrltten as a geg 'é
: AP

‘I‘he decimal will continue
to lnﬂnlty and wl!l never

termmmg the value of the common ratio and then finding the
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Chapter,Z’: Trigonometry

1. Determine the exact distance, in simplified form, from the origin to a point P (-2, 4) on the
terminal arm of an angle

O A2 4"
A= 20

A

g H:Zﬁ;!

2. Point P (15,8) is on the terminal arm of angle &. Determine the exact values for sind, cos®

and tané 3 f”fﬁ 51%3"{3;

zas 8 4% 9 11

N A= 17 cose= 15

17
- "('aw&"
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Math 11 Pre-Calculus Review 1: Chapters1& 2

3. Sketch each angle in standard position and determine the measure of the reference angle.

a) 40° b) 120° c) 225° d) 300°

AR AN EvdR
‘ ép \ \-){<3R
Br:40  Bpbd' ©p24S° Ba= 60°

4. Determine the exact value of each trigonometric ratio. |

a) si1t105° 2'% 45 b) coj-330° e = 30°
A &inlSEL o 2 c»sso"f-@
NS $2 2 2

") .-\‘u\

i,
£

C "“" L-4 B ad -
l ¢) tan225° Pa:4S d) cosl50° =30

’}an 4§a‘_{g Cossg":.@ — —-{2
7 2 2

oo
fa )

5. Radio collars are used to track polar bears by sending signals via GPS to receiving stations.
Two receiving stations are 9 km apart along a straight road. At station A, the signal from one of
the collars comes from a direction of 49° from the road. At station B, the signal from the same
collar comes from a direction of 65° from the road. Determine the distance the polar bear is

from each of the stations. o
L&&f 4 éé

A A ke
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Math 11 Pre-Calculus Review 1: Chapters 1 & 2
m 6. Waterton Lakes National Park in Alberta is a popular site for birdwatching, with over 250
o species of birds recorded. Chelsea spots a rare pileated woodpecker in a tree at an angle of
elevation of 52°. After walking 16 m closer to the tree she determines the new angle of
elevation to be 70°.
a) Sketch and label a diagram to represent the situation.

b =
—M“‘-——m

sl $in$2°

E?i(f-li%’rﬂj

7. In ARST,RT=2m, ST=1.4m, and 2K =30° Determine the measure offobtusey~S to the
nearest tenth of a degree.

+ \L Lt G - ?\\ns
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Math 11 Pre-Calculus Review 1: Chapters 18 2

ws a triangular course. The 3 legs of the race are in order 2.3 km, 5.9 km

h 8. A bicycle race f
o ind the angle between the starting leg and the finishing leg.

and 6.2 km.

-

=h*+c —2bc(cosA

5 Ef: 6. 2%& (%3)((; )

- 2sm 34.81= 38 %865500 tvte)
34.81= 43 osA
5 c 34.81-43735 ~—285 Coscd
o I\ 62km ©3481- 43736‘0*14 EZSS l%l‘l'u' l
pose Cﬁ““r ~28.52
<A:cos‘1( —8.92 )
~28.52
<AzT72°

~. The angle between the starting leg and the finishing leg is 72°.

)

9



@



(O

(U

(hH Wi
Math 11 Pre-Calculus M /17) () Review 2: Chapters 3 & 4

Chapter 3: Quadratic Functions

1. Match each characteristic with the correct function.

Characteristic Quadratic Function
I) vertex in quadrant III C X y=-5(x=2)" -3
II) opens downward A B y=3(x+3)+5
III) axis of symmetry: x = 3 D € y=2(x+2y-3

IV) range: {y|y = S,ysR} 5 > y= 3(x-3) -5

2. Classify each as a quadratic function or a function that is not quadratic.
a) y=(x+6)-1 Nol Quadrah ¢
Quadrabe

b) y=-5(x+1)

©) y=q(x+2)* +7 Nol Quadrahe
Q\uladraﬁ\‘c,

d y+8=x"

3. Sketch a possible graph for a quadratic function given each set of characteristics.

axis of symmetry: x = -2, range: {yly < 4,y£R}m_

@ axis of symmetry: x = 3, range: {yly = 2,y£R}
@opens upward, vertex at (1, -3), one x-intercept at the point (3,0).

w ¥l







Math 11 Pre-Calculus Review 2; Chapters 3 & 4

m 4. Identify the vertex, domain, range, axis of symmetry, x-intercepts and y-intercept for each
o quadratic function.

2) fx)=(x+4’'-3 Loy B )=x-27 4
vi(-4,-%) Nt V(2,0 pmink 1,3
ayi\ﬁ‘-"?(’”“'l' B a\Flg.—Ytz
D-xé{?_ %-ih\_: [ % D-?(é_R q-.'mr"’"?’
12.%?“'3 2 u[f‘
¢) f(x)=-2x"-6 d) f(x)=%(x+8)2+6
- - b CoL

iR s = b . n
DAL M D %l ywh - 39
Ca L -

( 7 5. Rewrite each function in the form y=a(x — p)* +¢. Compare the graph of each function to the
o graph of y=x2.

a) y=x2—10x+18 b) y=—x2+4x—7
U:'x’:m.x+z§"~2(+l‘t B A L
g2 (x-9) =1 y= (T3

: — 2
g{anﬁ'ﬂ“cd doww %@‘,P\’g& ?%i“}" L
’T‘JH’ Y
WS ds.}ul)r\
¢) y=3x"—-6x+5 B d) y=ix2+4x+20
Y B(K24 1) S S:Xi—u?’ﬂ%*hi—iyw‘o
Y- 3(’5 —“\)L—F P | 2
ghri e d Vo 4 z e
- r'&“k \ Y~ RGN 1)+ 3L
( ) 4 z {6
e 3 &

Bhrdda &3 Ghaitled op 20

le b ey o
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Math 11 Pre-Calculus Review 2: Chapters 3 & 4

( \) 6. a) The approximate height, 4, in meters, of an arrow shot into the air with an initial velocity of
- 20 m/s after 7 seconds can be modeled by the function A(¢) =—5¢% +20¢+2. What is the

maximum height reached by the arrow?

hit) = -5(42- 4t+a-4) +2
- ,{(f-wl) +22 oy f@g@{,\“: 22
verten (2r LZ)

b) From what height was the arrow shot?

y,-vnn'f'- )
_ ”{(0«3) + 22 }\u'ﬁm'"- 2 wm

- -5 (4)y 1112
¢} How long did it take for the arrow to hit the ground, to the nearest second?
,K,_.%Jr - 4,( or 452.CC’-’7\‘£S"

| (conle)
O

-

Chapter 4: Quadratic Equations

7. Solve by the indicated method.

FACTORING
a) x'—dx=-3 b) 9x°+6x-8=0
,7(174“_(,5’,0 qu-{-l)/)(CT\{. "'L?)_.—'Q
(4 -Dr-1) =0 (3¢p+a)(3x -2) 7 ©
+=0,3 \/-:-—f&),;:
3
COMPLETING THE SQUARE
¢) 2(x-3)2-8=0 d) ~2(x+2)2+1=—4
2(%—3)1 = ¥ =) (}(_12)2;—_, e
() («-3) =4 (*+t2) = |0
” +-3 =22 ~<+2 > = e

+«=22+%3 w-le-2 -8 -2
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Math 11 Pre-Calculus Review 2: Chapters 3 & 4

) QUADRATIC FORMULA (leave exact answers please!)
()
e) 3¢+ 19x—14=0 f) 27 —4x-3=0
A2 AN 4D 4 L )c-a)" 4(2)(-3)
_2(®) 2(2)
~1atsz * 2o
| \’ 1 4 2l 4o S rL
& 2 7 4 -i - z MO )
-1qt23% ‘#-g) 4+ 280 - L g
o

8. The sum of the squares of three consecutive integers is 194. What are the integers?

(x+D(~-T) = o

2z > =
-+ 1\ -~ + 2 :lq\-"
’7lm (’i4 (w«;) - —a
A +1+1¥4lﬁ-f\-fL{—~L+‘(’l-\‘1°l’
3¢ Ll 5 o tad —a -%,-7
3x s br-l3q=0 >
7.7, 19

Y 42y -b3%=0

O 9. The Empress Theatre, in Fort Macleod, is Alberta’s oldest continually operating theatre. Much
of the theatre is the same as when it was constructed in 1912, including the 285 original seats on
the main floor. The number of rows on the main floor is 4 more than the number of seats in
each row. Determine the number of rows and the number of seats in each row.

(o b —x—-uo[‘_sgam/.-m ’;ﬂ:“’"'qu{:

Hhom ’)<+-4-:iio-[-rov~>" Mrare ave \ < gca\“s/row
’7{(””4’\ S 245 and® {9 rows-
'-1,1% L\m,ca-l‘&q: o
(1) (x-15) " 9

10. Use the discriminant to determine the nature of the roots for each quadratic equation. b 2 46[ ¢
a) x’—6x+3=0 b) x*+22x+121=0 ¢ —x*+3x=5
-+ 2 _ - _ - o
(o) -40)(3) (22) - +{)121) Y36

=24 = O (-4 (-)EF)

i | eguel = -l
2 lft,&l’ A.Q\M/‘( 2 vea .Dj’/‘s a0 (esl roots
vo ot s re
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Math 11 Pre-Calcqusw Review 3: Chapters 5,6 & 7

Chapter .5: Radical Expressions & Equations

1. Express 3xyA/2x as an entire radical.
- ® 3 >
Nz 3? oy

- 2

'\& 5 L\‘”j\q'bg

2. Express V484’h*c’ as a simplified mixed radical.

“N2:2:22-30 aa-b-bec-ecac e

- 4"61-»]9 ¢ z'\/m

3. Order the set of numbers from least to greatest.

346,436,2+/3,4/18,2+/9,4/8
Neu A3 yTe i {30 HE

T < 12 < 78 < {362 {33 < st

4. Simplify each expression. Identify any restrictions on the values for the variables.

a) 42a+52a b) 10v20x* —3x45

- JpNZ 28 xox — 2A 5 B2
- g (7a D : A -

= ZD)C‘JfJ — G5

= x5

no restrichions

5. Simplify. Identify any restrictions on the values of the variable in part ¢).
. TN \
a) 2%/1(—4{/3} b) \/E(JE-\E)
S - {72

. gNTz 7T~ (T
T A N Y

9 (Va3 )feVa-a) Forl

:"ZJZLFQJ%—F?“IE—;”WL a>0
f12a-1205 4728 —2.63 1




Math 11 Pre-Calculus Review 3: Chapters 5,6 & 7

6. Rationalize each denominator. o

V2 0 2 Jz-¥3) Lwﬁﬂ/_\ RAYERITD
Vi T Y e |0 G @ e

zJag = {22223 - 4-2v3 - -3-3v2 L
4 4
= 14\1”3 - :: l
% a A
7. Solve the radical equation (\.‘x +6)=(x), Verify your anwer(s).
D=~ - %l 3re= 3
o (4 -3)42) A3
A2t T L
h3 - NF =2~ A3

(e eyect)

8. On a children’s roller coaster ride, the speed in a loop depends on the height of the hill the car
has just come down and the radius of the loop. The velocity, v, in feet per second, of a car at the

top of a loop of radius 7, in feet, is given by the formula v =+h—2r , where % is the height of
the previous hill, in feet.

@

a) Find the height of the hill when the veIoc:lty at the top of the loop is 20 ft/s and the radius of
the loop is 15 ft.

V=20 20 ﬁ_wl@)
r-15 (zo)w-3e)"
AT 4oo= h-30 | oAU
’ =430
430~ h %L ‘C

b) Would you expect the velocity of the car to increase or decrease as the radius of the loop
increases? Explain your reasoning.
F, .
oS Y 1\ v al {)e,( e%ua.{'\olﬂ-

— @



Math 11 Pre-Calculus Review 3; Chapters 5,6 & 7

q Chapter 6: Rational Expressions & Equations

9. Simplify each expression. Identify any non-permissible values.

LR I = = S
¢'s. a0 ©r0 (x-3)x+S) - A3
np - (M) D T ) s Sk
'm D=2 () ) (=D
3
4 X #4 (A1) (% 1) (x42)

- T =\
‘»—xftl—

d) 5x-10>< 3x f
6x  15x-30 ')(;Lo}z_ x=3

— = f()(m/bj;,—-it;j TN (R D) (D) - (% 1)
) 2 bx 3.7 (%/33{%(1“)) (-2)

"/"L ‘—‘:@x'ﬂ_.;_.:(

-4 \x=2

x+2)(x2-9).(x+3) 7#123 3

G o St S

10. Determine the sum or difference. Express answers in lowest terms. Identify any non-permissible

values.

2) 10 +a—1 A F —2, 7 b) 3x+2 J;—'S - X £+ 4'1« 4/
at+2 a-7 x+4 x* -4

- @"( 12y -4) - (x—*?) (‘X+4~>
(&) (<~ &)

- jo(ﬁ—-y) L (e ~r>(f~+1)

(a+2)(a-T)
2 ~2.% ~§ %~ dy Gy 420
; - Y} 3 —layr2x x b 5
o - loa-70 + a4+ 2 ) C%wéi-)é*x—r#)
L Ca+2)(a-T o
= faf«!—«”a,—'iq’ ~2’X’ .._QI}L'HL
/2N =) 61—4)(’7‘*4) 2




Math 11 Pre-Calculus : ' ' Review 3: Chapters 5,6 & 7

c) 2x - 3 71*’5— - | @
x*-25 x*-4x-5 ’ :é‘x_g)éxw}

2y _ E > - 2 4+ Le -3y -1
C
Niy-s) GG Lt -
Corsdtes) v - :(3035[2%“)
2¢(xt1)— 3(x+s) S 2p - tS
Led Ll (g5 (Sf";)(ﬁf-t'[)
o
x+2)(x+5)

11. Sandra simplified the expression to x + 2, She stated that they were equivalent

x+5
expressions. Do you agree or disagree with Sandra’s statement? Explain.

Not evactly Mush stale k= -2

12. When two triangles are similar, you can use the proportion of corresponding sides to determine C\
an unknown dimension. Solve the rational equation to determine the value of x.

X4+ i
4

L B

3 [-,({—4)? '7((4*)

3t (1= Ay
\‘ b = \F!

Chapter 7: Absolute Value and ReciprocarlﬂFﬁiTctions

13. Order the values from least

y—35.,8.4
3,9 4 O

2 <« § < g 413



) Radicals Worksheet ' Name: EZE \/

Evaluate the Perfect Squares .
12 28 32 4 526 7 8 9 107 1% 12 13® 142 13
VY 9 065 YV 8 s gy gy NY 16 @S

1. Simplify the following,

N/ Va V9 V16 V25 36
2] £ =3 =Y =5 =4
4 9 9 25 900
144 — —— — —_ —
9 100 36 100 100
z b _ 2 - 3 2 L -5 -
T3 T =72 e =7
. - 5
2. Find the value of the following.
oON
) 49 216 25V Vo ++/36 54 +1049
=7 :D-y 2354 = 3+é = 5.2 +o3
_ - 1O+ 3
-9 = 50 - ‘7
= YO

3. Convert the following entire radicals to mixed radicals in simplest form.

NiT) N V32 J60 J72 V242

7.5 SCTAERREN ok AR OO, voh - S ry i
ab =3 =W e L4 -l
4, Simplify the following, .
200 V36 V45 V49 J64 V108
ded =4 g5 =7 -3 AERE

bR - 305 e






)

L/

0

5. Simplify the following.

Ji8 =J5. J2 5v24 = S[y.JL
= 33 =5.28
' ~103%
6\16 = 4 Y 77 = 7]
=
@] RE @) - s[jJt
o/ ~
:7;45_ = 5.2
:JDE

6. Convert the following radicals to mixed radicals in simplest form.

V12 2432 5v24
:BW.IS . :lsﬁE'ﬁ = Sﬁﬁ
I =40  zilf
¥. Simplify the following,
3 2416 16v18
HFR =l ARE
-REE -2 = g3
2. Simplify the following.
44 281 925
~Y.2 =21 =95
=2 2 1% 245

Q. Convert the following mixed radicals to entire radicals.

342 23 546

= 7.2 - [.3 e
=g SE = {158

V5 =Jis 420 = Wy -5
=Y.aJ5
- 2J8
818 = [§. 12 10798 = 1o Jy3.42
4.3/ 210.7-53
> ?‘N-i 37055-
SR
V32 = Ji 3 Qﬁ) rRE
= "/JE_ - - fﬂ\ri
6+/98 4200 818
S LT IR CES o - SR S T
=22 =y fa =
3249 25425 41
=303 235.5 > Y
=94 =195
3.9 100v2e18 416416
%3 =3 Iy
- :IOD-L _ .2
/7 < (o ;;
67 4410 211
50 = {750 ¥4 -
= Hﬁ =J o = J‘\'/?






Evaluate the Perfect Cubes
13 23 33 43 53 63
b % 2 b Ps b

1. Evaluate the following.

N 3-8 27

2. Simplify the following, (mixed radical in simplest form where possible)

7 PO ERE Y SR i 13

i -8 3

73
w3

S ME SENEY

g2 9% 10
S5 9 Jov
,1000 3[ 10
125 270
T Ayt
54 7
3

= 210

3. Convert the following mixed radicals to entire radicals.

2343 - 5&"1—5
=0

3%/5 _’;J'S’??,}ﬁ

24 =g .y

IS

4. Simplify the following. (mixed radical in simplest form where possible)

216 = 238 N2
= 2-2%3

R

16 = 4

428 =Y. d
=g

532000 = 5 Yiaw - I3
= BapL
= 507 %

BRATYIRAN
250

Lh
X
—
(o]
1

i

338000 -3 ¢ e
T
= 40



@,



Radicals & Variables

1. Simplify the following,

FoOFF

=R

2
=K =¥

£y 16x' 36x°
5 Y
Patie = Yxs - éxv

2. Simplify the following. (mixed radical in simplest form where possible)

=\|_7J-?.<, = 31;"\’;‘ \ﬁ—ﬁm

- xv()_( < 3';(\1\]—'; = 57:3&;

\/x—:’
:r{aﬁ
= ®KJIX

1/1 25"
:‘W._E} \:f 22

22l

N
[
= 7(;&

[soxnys

7
e

= Y%

,36x'5y9

S N Y

RN

3. Simplify the following. (mixed radical in simplest form where possible)

8x®

-
-

A% ex? -
- BJ'é- X‘I 3\[3\

4, The square root of large numbers

N720

1780
> |240
4. Ngo -

2 )90
5fy

33
g

1322-3-3.5 =70
(3-2:2Yr23)5 2 798
J’g?» & =730

3‘\/3 16x'° 27x%y*
3B N =3
- 4% Jax =5 7(25

23452323 =19y
1233Y(2:23) (2.3) = [TYY
154 = 1Y

322.5.5.5 =3
(5 -sYssY(35Y73%
)gl A5 73375

3
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M10C Quiz - Exponents & Radicals C1-C4 Name: KEY

Evaluate each of the following and record on the Numerical Response Answer
Sheet provided:

1.\/5.:-51[ 2. Y64 =};‘U

3.‘/%—4:33-:- 4-{3?"%?;@

Express each entire radical as a mixed radical in simplest form. Your final answer
should be in the form avb or a¥b. For each question please record the value of a
Tollowed by the value of &on the Numerical Response Answer Sheet provided.

5. (30 - Jo8-d2 6. v = Jv.J8
RN - 33{5’!
7. 327 = 3.[5.5 8.y =643

=y

9. ¥ = 3-I¥ 10. 245 = 27572

s PN '}

Express each mixed radical as an entire radical. Your final answer should be in the
form V& or 5. For each question please record the value of b on the Numerical
Response Answer Sheet provided.

1, 5410 = Jas-do 12. 235 = iﬁeﬂg

L
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Math 11 ~ Pre-Calculus Final Exam Review Package
(q Name: Key

UNIT 1: Absolute Value and Radicals (CH. 1) ®

1) Arrange from least to Greatest

a) -14-7|, [-(4-7), -|5-(-3)], -14]-|-7| )
\\:3 . 33*8)-—11 e

®.@ @ ©

Srnnn sl IO e e

FeT el e
MR st 1y

g

.

\\:‘\

(/\) 2) Evaluate each expression without a calculator

@ %

(b) 363/2

() V(x—4*

absolute e loe !
C{"h?s e because we LG G“Lﬁ

hove o POSIHve Squoure oot






Math 11 ~ Pre-Calculus Final Exam Review Package

( ﬂ Name;

3) Simplify each radical expression

a) —3vV48x% 4 7V75x2
“2(4x)43 + 3G

= 1203 4 36T - (23R

(m+2.\

1
C)] = N ~
) ooz & (\Tﬁ A > ™y \hpha L;do(t(:(lg.eng_e% Sq vas 28

$a -2

oy
— d) Vxt+4x+4—-Vx2+12x - 36

C ) /\i (xx DT — W

= Ix*¥2V = Ix =61 = X-2 ~X+6 =9
ol

; e
e) 2354x+2Y128x —> Z AVEIC .
3 3

,
4

TR

AR

4

2 (3YWzx + Y.
3 4

A
o

= 2'!'&'2—); “+ \%152.)(
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Math 11 ~ Pre-Calculus Final Exam Review Package

(/’\ Name:

4) Find the Product and Simplify:

3

@ (x+z+3) (’\m 3 (xrz +3)
- X*"Z. + Gpm v q

- M.;t:g;‘iﬂer\m"sa
(6} (ﬂ]z e sotaaton
. S MNOT (gal
L i ) U= = (-3) (- A7)
1 - Zﬁ + 2.
BTF‘ &f
( /D 5) Determine the restr1ct10n§solve ‘and check solutions for extraneous roots.
‘ Q@&“Tl‘(_‘\'t‘t}ns
( \?.( ')'L \0"37(2_-0 2—)(\-202(3
AWV10 - 3x)=W2 20
a. (v x)=2x + - 3x2-10 2x2-20
1o~ 35(‘“2)\1-2_07 - x-’— IC!/;3 ?', ,(.“a.._ ;0'?;
~\0 = ZS" = 2'..0 ‘/Ok“f‘;j oSk meeks res&-nd—‘ms
b. (—-— vx+2 =(2)?‘ Crob exbrrorsousy Y
K42 = u\ e Y4220

E‘ = 2' '\:‘) e,x‘r(cme.ous

X 2~

'b Elons e

X+9 = - )f
Zx =9 _‘
: )(: -\{ ?.‘Z[ﬂﬂ“ ex breuneous,
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Math 11 ~ Pre-Calculus Final Exam Review Package

UNIT 2: Rational Expressions (CH. 2)
1) Simplify the below rational expressions and state restrictions

3 2x?+x=6 x3-3x*+2x
" x%2+4x-5  4x?—6x
= @) id (X~ 2) (et
(x + ) (xa4)

fF edeen
2.(x+ 8

Py e TE T, R H
. c o

x2-14x+49 _ 3x-21
x2-49  x+7

(x-Dx-3) (x+3)  _ (e et d)

®

(

(eP)lx-7)  3x-7F) 3 Gueet Y oY (=T

&

— P

(xz _1) ,@eﬁ)?m ) " M

p '::.
¢ Gy PR G B
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Math 11 ~ Pre-Calculus Final Exam Review Package

’/
f 3 Namle: @

2) Simplify and solve for x in the following equations.

3 4 -
a) L + = Coammon densmmctor S (’Qi‘-g)(ﬁf '2)
x-2 x+3 x%4x-6
(XaBYr-2)

VOX43)0022d « 3(x-2Xxm@»= 4 (xR e )
Koz :
Rk (@Y fesomepee

X+3 4 3(x -2y = 4
X433 &2y - 6y
Uy — 3 = y

b) — - _Z Common denamion bor

x+2  x2+x—2  x2+3x+2

(X +2)(x=1)  {xe 2¥xx1) QH’?)(K‘”)LK-"D

6 (xeDx-1) = 3 (x+)) = X (x-1)
bx* -6 - 3x -3 - X% - %

G)ﬂl_q_.gx = X2 oy

OX*-2x -9 = ¢

7_‘3 ”T"“G) L6
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3. Solve the following word problems:

a) DISTANCE Problem: Ed is a runner and he runs a 8 km loop every day. The first4 km, he
runs at 12km/hr. He runs much slower on the way home. If it takes him 1 hour in total {o
run the loop, how fast is he running for the last 4 km?

D

t\ _ | D R | £

Themr Yim V2kmfhr —:jf
i
X

Back [ ym X

it s

mLJ-—m+';i= ‘ B4 runs
'z G e lhr
o x + 48 = 12X %( the tost L{ km
o, 43 = Bx
b) WORK Problem: It takes Louise 2 P:ours to paint a room and it takes Pete 8 hours to paint
the same room. How long does it take them if they paint the room together?
L =4
> T ® T X
‘Sx . g ﬂ_[c oke s 8/5 (L Q)ho \Nj
o paint ether
i
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¢} The sum of a number and it’s reciprocal is —132, what is the number? @

X 4L o 19| REX
X 3

3x* 3 = 10¥ I'X=lg and > |

3Ix2-10x +3 =0
(3x 1)k -3) = O
1. Given the following trigonometric ratios, draw a triangle, find the missing side and use this to
solve for the two missing trigonometric ratios (sin &, cos & or tan& ). HINT: there should be

two answersfor each. {3 marks each)
*

UNIT 3: Trigonometry (CH 3)

a) sin6’=fE
5

A
cHEs

NE
b O0=———=
} tan \/ﬁ

§ Answer |
ey cse=xAB

-z G | 4
Y S{n&:i_%_
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S A '\{g:ﬁ RGNS
2. Evaluate exactly (without a calculator) {1 mark each) Tle C 5
i3

i Sner = =9 o
o_ Yo Y v _AEe 1
a) sin270°= 2 oot = X b) cos(—45°)
Y
tono= }
Vx 3 ,
{ A‘Tz'“s
sin135°
cos(—225%)
p)
(HD 3. Findall @ for 0° <8 <360° that satisfy the given equation. There could be more than one

answer! Use the unit circle and/or special triangles! (1.5 marks each)

a) cos@=0 [T—— b) tan9=~1
o P
) °
220
d) cosf=0.5
[Ci‘r 66" 300 f
2T
NNEE
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4.
oy
)
b3 18,5
A
12
20
- A

Use the sine law to solve the following triangles. In the case where there is no triangle, write
“no solution.” In the case where there is two triangles, solve for both, (2 marks each)

a) L4=65,a=9,b=11

c ASS
\ (\ S‘iﬂ 6‘—3 = %iﬂa
‘ g H
65° 3

?,\‘nﬁf-h\\

NO TRiaNGLe

b) £4=105",4B=35",c=12cm i
;;}Kﬁswef:

£C = 4ot
AAS =103
3inH0 _ s nlS @\-: 18,0
\ 2 1= S
b=1o.F
3in 40 _ S 105 —
12 O
o LA=76°,a=25b=20 ;tdfm%(_ mwﬁb.q,? e
0SS Answer: N
SinFe - 3B | LB=50.1°}
IB 2'5 20 .; 4 C :53151 °
: " C =208 |
/B= B0.° | 8
8 1253 No
LB=50.1¢
Sin 939 :ﬁs'n"-?-é - C=20.8
. 23
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®
5. Determine whether or not you need to use the Sine Law or the Cosine Law to solve the
triangle. Then, solve the triangle (watch for no solution and 2 solutions!} (3marks each)
a) a=8, b=10,c="\5 \_
IS @
s eZ= 102+ 15T - 200s) s A LB - 33.00
%2 N \()‘2_. - ‘52

= — 300 cog A
~2e) =

| £C=l25°

~-2300cas A
01%? e C.OS g

‘/N? S\\ﬂ 2_01.5 - S‘\QB..._;A B= 3'& 00
LA = 26\'5@ S
b} £A=25°,a=Sb=20

ASS
5in2S _ _Sia B

o £Bs voue S
F° Mictesr ) Voo laaw Zener
Sca 44.9° _ gin2S _
O‘
¢) a=14,b=12,/C=35°
SS( Answar
a | Lr=g5.6°
1424127 - 202 ) c0s 35 L@ =57, ~f°
C = Q. 0’5
C=3.05
B> siab _ Sva 30
V2 3.0

LB:SC{L{ °

L= @58 g/()
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UNIT 4: Factoring and Quadratic Functions {Ch.5)

1. Sketch the graph of the quadratic function. Identify the vertex, axis of symmetry, and
x-intercept(s), domain, range and state the maximum or minimum value.

— 2
(a) f(x)=x"+3x+2 Fx) = (x+2)(Xe 1)
" ; “‘,ﬁ !
1 N
L
vild
{ RN
4 f,
|
t
!
.

(b) £(x) = (x + 4)% —
Verkex (= 4 73)

p
[ ysiak s y=13 (6,1%).

I
/ RaAt (£2:2%,0) (5.3, 0)
)/
A ' ; Symmetr, ST
) : Aﬁ > O’{ . 3 X L
—“-\\ Ii( |
- l s
T
!

3O
Q1
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(©) m(x) = —§x2 +3x—6

)
N 2. Write the standard form of the equation of the parabola that has the indicated vertex
and whose graph passes through the given point.
a) Vertex:(-2,5); Point: {0, 9)
F(K) = 0«.(5(‘* 2)* + 5 e e e W““w
WG = 10x2)™+5)
Y=o lov2y+ S i
q= dea+5 ST =)
H= Ha
o=
b} Vertex: (— -—%); x-intercept=-2 -=» (+2,0)
> Plug (0 (-2,0) o0=o(-2-5)2- 3/
5—’60 — 5/\_*?’/ - =0
: %y = 20280, > Q= 5/2}
3 erte the standard form of the quadratlc function that passes through the following 3
= 6 0. 3
) Yetex = (5-.1:)

Pld=a (x-3) + k

21—“(—)\-(‘33?—%\’C\/ﬁ = oo (CD-3)2+2-9a
4 = NZa+2 - /,@2

k—"—"— 2~ Yo KZtQ3/‘5L, G.= l/56
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4. What is the maximum area of a rectangle that can be constructed with a perimeter of

64 cm? @
9 L+ Aw = 6Y
| - 0= 64-2w L (=32-W

2

Neea. = AWUY= w (32-w)
ALYz - w? +32W

AlL) = -1 w2z =320 +256) + 256

= “ 1 {w-16)*4 2806
UNIT 5: Solving Quadratic Equations (CH. 6)

Mok arec, occurs  Whan
v = |G

1) Solve the following Quadratic Equations (use the method of your choice}

a. (x+13)2=25
At =4+ 9
x=5-13 = ~8
® = 'S"’\a = ....1%

b. 2x+3)2-27=0
(x +3¥ =273
2x+3 = £ Az3
2x+3 = £ 343

2% = -3 LA

X

c. (x—=7)7%=(x+3)?

e
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d. -z-xz-—x—16=0
__él;(_x“-Bx +_____3 - 6 =

(x*- x4 16) ~ V-2 = O

e. 3x24+24x+16=10

“badbruac | -24s aRwr-dye) | -292d3%  py.e

2o 2 CSS e

; —-O :}'5 ———'P ?:

f. lx2—2x+7=0
4

vlve bg’ Q\Jf&'ﬁl"‘\ﬂg_i_ NGO SOLUTION

e o m{-e,(fc;éief:\%’

e

“qxz‘-\-\'z.x +3=0
-2 LS;("L-E-L\'K‘% \3 =
=3B ) (x+\) =0

(3('"‘/3\“\1{

h. 25x* +80x+61=0" /‘7

x= 790 £ABC-YGsen - - 80 £ A260 _ _Q0r 04T %1
2(28) 20

g 12x—9x%=-3

G oo -k 2‘5 144
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i. 3x+4=2x2-7
Zx2-3x —\l = O

A Solve d by 3‘"0‘10‘“""“) R

h e
!?MX
2 §

a. 2x'-3x=4x+12
2R ~Ix- 12 =0

™
)
2. Brian decides to start training for switnming in a river. The current in the river is
4km/hr. If he swims upstream 2 km and then back downstream to where he started in 3
hours, what is his swimming speed? " X= Brran ¢ 3N¢mmcf\5 s[Q_U_d
; ' l R 1D & - .
— 4 2 el Lime = 2 =it kimg

R € Do | X 44 “ka \‘-)-(2—"_;3-{-—

= o+ = 3

X +d %=y

4

2064+ 20084 = B e )

ZX-%‘{“Z}('%% = 3[3(1~—‘QB
X = 4.3 lom I

BT -y ~4% =0

Brion's swimma r\c-z) \
K Sped s 4.3 kmfe
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